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35911 (13 TeV) | 4355 0.0<ly(2)<0.4 (x10%)
F SR~ 0.4<|y(2)|<0.8 (x10%)
+ AAFA 0.8<|y(Z)|<1.2 (x10%)
10’ CMS LBLL 1 2<|y(Z)|<1.6 (x107)
E LAE A 16<Iy(2)|<2.0 (x10)
~ AAEA, 2.0<|y(Z)]<2.4 (x10%)
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0.5; Stat. unc. 0.0 <ly(2)|< 0.4
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0.5Estat. unc. 0.4 <|y(2)|< 0.8
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1.0E — e
0,52 Stat. unc. 0.8 <ly(2)|<1.2
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0,52 Stat. unc. 1.2<ly(2)|< 1.6
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0.5E[stat. unc. 1.6 <ly(2)|< 2.0
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1.0 — Saa
0,5; Stat. unc. 20<ly(@2)<2.4
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O.SEDStat. 0 ltheo. 0[J(PDF O o unc) 1.6 <|y(2)|< 2.0

1.5F

1.0E

0.5F[stat. 0 [ltheo. 0 [J(PDF D agunc) 2.0 <ly(Z)|< 2.4

0.0 0.4 0.8 1.2 1.6 2.0 2.4
IyG)!
CMS 35.9 fbl (13 TeV)

150 |

1.0F

0.5; Stat. 0 | theo. unc. 0.0 <|y(2)|<0.4

1.5

1.0F

0.5E[Jstat. 0 [ theo. unc. 0.4 <|y(2)|< 0.8
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1.5

1.0F

0.5% Stat. 0 | theo. unc. 1.2<ly(2)< 1.6
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